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1.

2.2. Why should Trypanosoma gambiense be classified as

2x5=10

1+1

2

2

1+1

scabies and

1+1

P.T.O.

a salivaria?

3. What is Ascaris pneumonitis?

4. What is epizootic disease? Give example.

5. State the causative agents of human
babesiosis.

ZOOLOGY (Honours)

Paper : DSE 3-T

lcBCsl

Full Marks : 40 Time : Two Hours

The figures in the margin indicate full marla.

Candidates are required to give their answers

in their own words as far as practicable.

fParasitology]

Group - A

Answer au.ry fwe questions :

What is phoresis? Give example.
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